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Name: __________________________________

        
1
The graph below represents [image: image1.png]


.

[image: image2.png]



Which graph best represents [image: image3.png]|£(x)|



?

	1)
	[image: image4.png]



	3)
	[image: image5.png]




	2)
	[image: image6.png]



	4)
	[image: image7.png]






2
Which is the graph of [image: image8.png]x| +2



?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]AN NN
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3
Which graph represents the equation [image: image13.png]


?

	1)
	[image: image14.png]




	2)
	[image: image15.png]




	3)
	[image: image16.png]X
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	4)
	[image: image17.png]X
EEEEEEEEEEEE

] 3
“ y.








4
What is the minimum value of the function [image: image18.png]|x+3]-2



?

	1)
	[image: image19.png]



	3)
	3

	2)
	2
	4)
	[image: image20.png]






5
Which equation represents the function shown in the accompanying graph?

[image: image21.png]



	1)
	[image: image22.png]f(x) = x|+ 1




	3)
	[image: image23.png]f(x) = |x+ 1]





	2)
	[image: image24.png]



	4)
	[image: image25.png]






6
The table of values below can be modeled by which equation?

	x
	y

	-2
	5

	-1
	4

	0
	3

	1
	4

	2
	5


	1)
	[image: image26.png]f(x) = |x+ 3|




	3)
	[image: image27.png]fy) = |y+3|





	2)
	[image: image28.png]f(x) = |x| + 3




	4)
	[image: image29.png]fy) = |y +3







7
On the set of axes below, graph [image: image30.png]


.

[image: image31.png])

>x





8
On the set of axes below, graph [image: image32.png]20x+3|




.  Include the interval [image: image33.png]


.

[image: image34.png]




9
Graph the function [image: image35.png]


 over the interval [image: image36.png]


.

[image: image37.png]




10
On the set of axes below, graph the function [image: image38.png]|+ 1]



.

[image: image39.png]





State the range of the function.  State the domain over which the function is increasing.


1
ANS:
1
REF:
010414b

2
ANS:
3
REF:
011117ia

3
ANS:
4
REF:
081425ia

4
ANS:
1
REF:
011712ai

5
ANS:
1
REF:
080707b

6
ANS:
2
REF:
011502a2

7
ANS:


[image: image40.png]Hx)





REF:
011825ai

8
ANS:


[image: image41.png]x





REF:
011333ia

9
ANS:


[image: image42.png]



REF:
062126ai

10
ANS:


[image: image43.png]


Range: [image: image44.png]


.  The function is increasing for [image: image45.png]


.
REF:
fall1310ai

